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Punnett Squares/Hetero and Homozygous Assignment #
-Punnett Squares are used to show the ____________ that two people will have children with certain gene combinations.

Practice with Punnett Squares
Directions:  To fill in a Punnett Square, place one parent’s genotype on the top of the grid, and one parent’s genotype on the side of the grid.  Then place an allele from each parent in each box:

Example:

	
	

	
	


	
	

	
	


	
	

	
	


	
	

	
	


	
	

	
	


How many of the children will be tt?
What percentage of the children will be Tt?

	
	

	
	


What percentage of the children will be aa?
	
	

	
	


How many of the children will be Bb?
Applied Punnett Square Problems
-These Punnett Squares have been filled in.  Use the information in the Squares to determine the genotypes of the parents.

Example:

	
	

	
	


What are the genotypes of the parents?

	
	

	
	


What are the genotypes of the parents?

	
	

	
	


What are the genotypes of the parents?

	
	

	
	

	
	

	
	


What are the genotypes of the parents?

What is the phenotype of the mother?

	
	

	
	


What are the genotypes of the parents?

What is the phenotype of the mother?

What is the phenotype of the father?

	
	

	
	


What are the genotypes of the parents?

What is the phenotype of the mother?

What is the phenotype of the father?

How many children will be BB?

How many children will be Bb?

How many children will be bb?

What percentage of the children will be bb?

Practice Word Problem:  

Carriers of Diseases
-If a person is a carrier of a disease, this means that they have one gene for the disease, but that gene is recessive which means they don’t actually have the symptoms of the disease.  

For example:  A man is Aa for sickle cell anemia.

A=Not sick

a=sick

Is this man sick?

Could this man pass on this disease to his children?

If two carriers for a disease mated, what would be the percentage of possibility that one of their children would have the disease?  Use the Punnett’s Square to help you figure out your answer.  (Each parent will be Aa).

	
	

	
	


Punnett’s Squares(Homework!

1. Fill out the Punnett’s Square
	
	

	
	


2.  If B=not sick and b=sick, what percentage of the children would be sick?


a.  25% 
b.  50%
c.  75% 
d. 100%

3. Are either of the parents sick?

Heterozygous/Homozygous Practice Problems

W=widow’s peak

w=straight hair line

H=Hitchhiker’s thumb

h=straight thumb

L=Big lips

l=small lips

B=Brown eyes

b=blue eyes

T=Tall

t=short

-Use the descriptions below to write out the genotypes of each individual.

1. Homozygous dominant for widow’s peak

2. Heterozygous for widow’s peak

3. Homozygous recessive for straight hair line

4. Homozygous recessive for lip size

5. Heterozygous for eye color

6. Heterozygous for height

7. Homozygous dominant for hitchhiker’s thumb

8. Heterozygous for lip size

9. Homozygous recessive for height

10. Homozygous dominant for height

11. Homozygous dominant for eye color

12. Fill out the Punnett’s Square and then answer the questions on the side.

	
	

	
	


